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EKAM IAS ACADEMY

Lets Work Together, We Hard, You Smart

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : VGYH-U-FGT Test Booklet Series
TEST BOOKLET
GENERAL STUDIES
XS ACADE PAPER - I
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection. )

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.
4,  This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  All items carry equal marks. ;

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.
(i) There are four alternatives for the answer to every question. For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty. .

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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“@ftd fofiled W9 (Rapid  Financing
Instrument)” 3 “ft@ = gfaar (Rapid
Credit Facility)”, F=fafaa # feg v & g
YR feu 99 & 3eyi & gefiq # 2

(a) uftr fmm &5

(b) AU Hz1 BN

(c) HYWH g FAtawo FHHA fom vaet
@ fowads

A rdfegawen & d<d |, frfafaa st
R famm Hifs

1. ¥fka wwet A @ (Nominal

Effective Exchange Rate (NEER)) H 3fg
wU H Yeagfg i qutar ? |

2. areafass g faf g g (Real Effective
Exchange Rate (REER) ® 3fg =mm
sfereaaiererar § guw 1 g9far 8 |

3. I W d pEhft ¥ W Wy
qredifd # @gd #l Wafi NEER 3
REER & 9 & adum 3mam 3w =
1 B |

I HOAI 4w Tl E 2
(a) e 13 2

(b) At 23R 3

(c) hae 133

@ 1,233
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1. “Rapid Financing Instrument” and “Rapid |3. With reference to the Indian economy,
Credit Facility” are related to the provisions consider the following statements :
; : .o :

of lending by which one of the following ? 1 If the inflation is too high, Reserve

(a) Asian Development Bank Bamaut hdia (I.tI_il) is likely to buy

government securities.

(b) International Monetary Fund 3. 1 1fHhe ripeeas ragadly deveecisting RBT

5 UM N AR TR AR is likely to sell dollars in the market.
Programme Finance Initiative 3. Ifinterest rates in the USA or European

Union were to fall, that is likely to
(d) World Bank induce RBI to buy dollars.
Which of the ‘statements given above are
correct ?
(a) 1and2only
2. With reference to the Indian economy, @12 ant 8 ciily
consider the following statements : .
(¢) 1and 3 only
1. An increase in Nominal Effective .
(d 1,2and3
Exchange Rate (NEER) indicates the
appreciation of rupee. ;

2. A_n imm in the R&al Eﬂ'ective 4- With. ref&!'enﬂa to the “qu Cﬂmmlﬂn
EIChangE Rate (REER] iﬂdicates an Framework”, consider the fDHDWing
improvement in trade competitiveness. gl e

) : . : 1. It is an initiative endorsed by the G20

3. hu oreARERTAL i - domestic together with the Paris Club.

inflation relative to inflation in other .
g f 2 2. It is an initiative to support Low Income
countries is likely to cause an increasing : ; :
: Countries with unsustainable debt.
divergence between NEER and REER,
Which of the statements given above is/are

Which of the above statements are correct ? cottect ] :

(a) 1and2only (a) 1only

(b) 2and 3only (b) Z2only

(¢) 1and 3only (¢) Both1and2

(d 1,2and3 (d) Neither 1 nor 2

VGYH-U-FGT (3-A)
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RdTE sidferaeen & g #, “grredifa-gsae
&I~ (Inflation-Indexed Bonds (IIBs))” % 41
avE? :

1. HThR IIBs % &9 H 319 FUREY T FIH
T I FH H Gl E |

2. IBs FwE W AR % an &
wAffTeaar & gram wom w # |

3. ﬁBsqIWWGﬂIWﬁWW
AT FAT TE B |

I ol § A T E 2

(a) el 130K 2

(b) wad 2 3K 3

(c) ad 13K 3

@ 1,23M3

a4 Fd = @ faesht e 6 earfisy

b % g 4, Fefafgs s & SR

T 272 2

1. 9 WeHHA H TEREIH F w9 H
T FH % Al 3 @ 39w =
fosrg oft T @ & |

2. 9 I wITHEE W R ow 9w =2
fashanati 1 R = ga §, 77 difim
2

Hie w2 1 wam W= wd s g

(a) Had 1

(b) had 2

(c) 1aﬂtza=ﬁ

d T 1,982
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Frafafga § S-aR-8 FriTam srdegaw §
ardfas e (faa @) =1 fmin w@
27

1. TramEl 1 19ft wEe s

2. mﬁa‘fﬁlﬁmaﬁﬁ%ﬁ
el

3. Tt afoifsues d% =1 feft sl ot
&1 YA 39/ &

4.ﬁwﬁ_ﬁﬁzﬁ$ﬁmﬁ%{mﬁ

H= R e &1 v w= wd I gfv
(a) had 131 2

(b) e 2,33 4

(c) ad 1,330 4

(d 1,2 33K 4

Rd % &3 § 7 @ § Sseeenaen §

et IfEia “orreas sfar” w1 fefafaa o

?a-@&wﬁrheﬁﬂnmﬁnﬁrﬁﬁam
5

(a) iE WRA Hof, o et faesht sem
H fraw fer &1 ot aan Pdw w ey
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(b) ¢ faesht woft, e wra § faw e
& o oA fEw @ el @ @y w
I AU 9 I HL AT BT Al

(©) I3 vl @, S fopeht amett 2w & od
qufe @figdht 8 3R I 559 w7 W =
o ot B a9 Wifta ) wRa § oiafa w
ot @

(d) i faesfi Foft S siafa wlt & o
UH YRR WAG ° g gfeuafeEt @ s
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5. With reference to the Indian economy, what [ 7.  Which of the following activities constitute
are the advantages of “Inflation-Indexed real sector in the economy ?
Bonds (IIBs)” 7. 1.  Farmers harvesting their crops
1. Government can reduce the coupon 2.  Textile mills converting raw cotton into
rates on its borrowing by way of IIBs. fabrics
2.  IIBs provide protection to the investors 3. A commercial bank lending money to a
from uncertainty regarding inflation. trading company
4. A corporate body issuing Ru
3.  The interest received as well as capital rpu A . i
; Denominated Bonds overseas
gains on IIBs are not taxable.
Select the correct answer using the code given
Which of the statements given above are ¥ B
- below :
correct ?
(a) 1and2only
1 2 onl
e e (b) 2,3 and 4 only
(b) 2and 3 only (¢) 1,3 and 4 only
(¢) 1and 3 only (d 1,2,3and4
@ 1,2and3 8. Which one of the following situations best
reflects “Indirect Transfers” often talked
6. With reference to foreign-owned e-commerce about in media recently with reference to
firms operating in India, which of the India ?
following statements is/are correct ? (a) An Indian company investing in a
1. They can sell their own goods in forsign e?terprise and paying taxes to
addition to offering their platforms as e, oMty on- the profita
market-places.. arising out of its investment
: . ; (b) A foreign company investing in India
% Thlf degre;]bo T t.hey cla.n' aws. big and paying taxes to the country of its
sellers on their platforms is limited. | 50 ‘the: prifits alMTY out of is
Select the correct answer using the code given investment
below : (c) An Indian company purchases tangible
@) Lo assets in a foreign country and sells
such assets after their value increases
(b) 2only and transfers the proceeds to India
(¢) Bothland?2 - (d) A foreign company transfers shares and
3 : such shares derive their substantial
WL v value from assets located in India
VGYH-U-FGT (5-A)
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Al "Al =M

foret dmem @1 9t g fopn U = % w
#, Frafefaa sui § SR ad 272 2

1. 7% Srenfieh s st ofia = @

2. = faefies =t ofima == 7w W R,
vafe $fadt fasdfims = uoe =59 @
SR |

=1 1 e 1 v = wd s gt
(a) A 1

(b) I 2

(¢) 13 23H

@ JIAMLAEL

T srefeaaedn % sl #, Frfafas e
W o= Hifsr

1. we fofa s9a «1 @ am wwd
FUIEY & fore Sman 2 |

2. Hiemft # srem-wetia g w S fgfwa
yfayfaai, smafe w0 w1 & @@ w2H
Bt & |

I HYE § BA-A/A T Y 2
(a) Fad 1

(b) e 2

(¢ 13K 23l

@ TA LI 2

11.

12.

(6-A)
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fr=fafiea wuai w fa=m Hifsw .

1. TE.WH. 8 qfEfa i foil F e
H, = i sEEE s, 1971
urfta feran e o |

2. Y9G # Glqum I=a9 =EeE 69 3=
Tl i, A FEE * fow 28 2
7, WIfth g e R |

3. Yra %1 gfeum fafee sEwms 3k
AR aHEAT S yfeafyT FEr # |

4, 9Nd ®, ey & EuET & foww d@
HHA M % forq wae § wft fifga 2 |

I A 7§ BE-EVE T AE 2
(a) Faa 13 2

) 1,23M 4

(¢) %ae 33N 4

(d) e 3

qd % ged ¥, fFrafafes e w fEw

if

1. wwh By afted i ffts ol
e & w9 # wraura #, g
FHUNE FhiA IR Yo AEarE) feaear
T W= ¥ 9TE @ T § |

2. fafus ofiwdl (an =ifee) = faftes fen
3R fafy wefernergt 6 amar & s o
foram rfersfem = i wfes 2 |

I HYE § BH-AVE T R 2
(a) ohad 1 \
(b) HaS 2

(¢ 13K 23

(@ TdT1L,TE 2
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9.  With reference to the expenditure made by an
organisation or a company, which of the
following statements is/are correct ?

1. Acquiring new technology is capital
expenditure.

2. Debt financing is considered -capital
expenditure, while equity financing is
considered revenue expenditure.

Select the correct answer using the code given

below :

(a) 1only

(b) 2 only

()  Both 1and 2

(d) Neither 1 nor 2

10. With reference to the Indian economy,
consider the following statements :

1. A share of the household financial
savings goes towards government
borrowings.

2. Dated securities issued at
market-related rates in auctions form a
large component of internal debt.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

VGYH-U-FGT

11.
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Consider the following statements :

1. Pursuant to the report of H.N. Sanyal
Committee, the Contempt of Courts Act,
1971 was passed.

2.  The Constitution of India empowers the
Supreme Court and the High Courts to
punish for contempt of themselves.

3.  The Constitution of India defines Civil
Contempt and Criminal Contempt.

4. In India, the Parliament is vested with
the powers to make laws on Contempt
of Court.

Which of the statements given above is/are
correct ?
(a) 1and2only

(b) 1,2and4
(c) 3and 4 only
(d) 3only

With reference to India, consider the following
statements :

1.  Government law officers and legal firms
are recognised as but
corporate lawyers and patent attorneys
are excluded from recognition as
advocates.

advocates,

2.  Bar Councils have the power to lay

down the rules relating to legal
education and recognition of law
colleges.

Which of the statements given above is/are
correct ?

(a) 1lonly
(b)
(¢) Both1and?2

(d) Neither 1 nor 2

2 only
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AL DE

Frefafga wuat w famm it .

1. Tt ofeam e fades = v/ ¥
Tszafa i g it 6 amden @t

2. @ FF “RYm Giue e TR %
- TsgEfd % wmE wega e S @, @
qRd F Ul & fou g aeme 2 fR 3
ST SR g |

3. wfeum wviem fqdas & aw ot sy
a1 gH1 g fae sgEa & aifa @ &
wifeY 3R g8 fog 53w do% w1 FE
IaY TE 8 |

39 HYAl § BAA TE E 2

(a) ohaed 13 2

(b) Had 237k 3

(c) e 130K 3

@ 1,233

Frafefiga wuai w famm #ifvu .

1. YRd w1 "faud uGfE w0 5w Afw,
T, TeawEt ot 3w, # wffwa
FAT 2 |

2. ¥ "R # 69hE f $a gen, wum
W= F A W, a1 G & Fo ged
% 15% § Aftes 781 B =nfew |

9wl § BE-ETE TE A 0

(a) ad 1

(b) a2

(¢) 1322t

(d Far 1,92

15.

16.

(8-A)
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fiafafes & R &% aw B ==
wfw(ar) 28 2

1. 3aTd i IgEMOT 1 SFERA HE

2. Wbftse & fawg sifdvam wam afm
HET

3. WNd % UNUld W ggiaE g
fa fw e &1 wm = wd I gh
(a) 13N 2
(b) a2
() 133
(d) ad 3

WRd § goaga faidt s F owed #,

Fr=fafigs syt w fmm i .

1. 78 @ faffde w5t @ # il
fours wer § fge 89 ¥ v T &
It ot oorifos g # wite 9df &

Hehdl |

2. I8 FHA HI guEty 7@ o ms s
frardi= ﬂﬁl‘:‘h‘lﬂ H - TA-ESA  HHAT
ffifre s w2 )

I FoEl H BV T A 2
(a) Fad 1

(b) W 2

(© 13 23

d Adt1,7d2
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13. Consider the following statements :

1. A bill amending the Constitution
requires a prior recommendation of the
President of India.

2.  When a Constitution Amendment Bill is
presented to the President of India, it is
obligatory for the President of India to
give his/her assent.

3. A Constitution Amendment Bill must be
passed by both the Lok Sabha and the
Rajya Sabha by a special majority and
there is no provision for joint sitting.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2and 3 only

(¢) 1and3only

(d 1,2and3

14, Consider the following statements :

1. The Constitution of India classifies the
ministers into four ranks viz. Cabinet
Minister, Minister of State with
Independent Charge, Minister of State
and Deputy Minister.

2.  The total number of ministers in the
Union Government, including the Prime
Minister, shall not exceed 15 percent of
the total number of members in the Lok
Sabha.

Which of the statements given above is/are

correct ? '

(a) 1only

(b) Z2only

(c) Bothland2

(d) Neither 1 nor 2

VGYH-U-FGT
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Which of the following is/are the exclusive

power(s) of Lok Sabha ?

1.  To ratify the declaration of Emergency

2. To pass a motion of no-confidence
against the Council of Ministers

3.  Toimpeach the President of India

Select the correct answer using the code given
below :

(a)
(b)
(e)
(d)

1and 2
2 only
1and 3

3 only

With reference to anti-defection law in India,
consider the following statements :

1.

The law specifies that a nominated
legislator cannot join any political party
within six months of being appointed to
the House.

The law does not provide
time-frame within which the presiding

officer has to decide a defection case.

any

Which of the statements given above is/are

correct 7

(a) 1only

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2
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1. YRG W WeEarRl 3R 9ma &
HfAfEe S & @&R % e
sfterrft & 58 wra H gug 1 Jo=i 1§
HT o 6 Iafa R |

2. WRA % HEAYE % IER, WRa &

HEATEAT] A1 SR 2 36T 2, 9" 98
R e Jme e e a1 sedten

e
I HYET F BTV T R 2
(a) 99 1
(b) Had 2
@ 13 23M
d JAd@ 1,92

Ra % =t gw o fEt # owe d,
frafefga st w faem $ifte .

1. et wgae @mea & fomg, @@= %
IGH B s $9 TE g A,
qmrew (H3uw) 7@ g o

2. foelt Foft & fawg, wat & a7 =i wd
ol &, worew (Heww) T g

3. g Wt Awyaw =afs (e wEse
wEd) fsmrges (F6 ane) fie g
FH ¥ FEeE § guEed w9 % fau
It (fadterm) 2w B |

I HYAl § HHE G 2
(a) ad 13N 2

(b) e 2 3N 3

(c) haw 133

(d 1,23R3

E/A

N, —

EKAM IAS ACADEMY

Lets Work Together, We Hard, You Smart

19. FgwHE wia fefre fimm & @ 1,

20.

(10-A)

1. YiEae rarEl 3R G et
T v YA 1R | |

2. i 39 A8 W I geoH st
8, SAqdNTedT YRA % B AN I IHH

- fewm & s =faw |

3. & QX ou H iy wv & =wp fen =
THAE |

U FeE § BE-AVE T 22 7

(a) e 130 2 :

(b) a3

(c) Fae 13 3

(d 1,23R3

HRET 3 IuTee % weed H, Fraferfea st

R faem fifoe .

1. ST % HEUgR 3 wE-guer e
% IR, ey %1 fatew 39 afa w5
B S 3eae e |

2. U§ TS IqEY 6 waw & Iqreaw
& w9 ¥ et wleanht 1 fafem & gen
femeft 2= @, a1 w9 7= |, B |

3. 9 FI d93F I AW FA THY ITAH
# wfts ot & et @ S&ft 5 e Ay,
ot 3u% fafioiai & fasg #18 arfie 78 &
ekl |

4, 3y H i & av § gefie gady
ygfd a8 ? o6 weame sreas g w@n 9 @
;ﬂ( vaR Wit g faftma Pl da

|

I wYHI A wHA TR E 2

(a) Had 131K 3

(b) 1,233

(c) Had 33 4

(d) Fae 234
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1.  Attorney General of India and Solicitor
General of India are the only officers of
the Government who are allowed to
participate in the meetings of the
Parliament of India.

2.  According to the Constitution of India,
the Attorney General of India submits
his resignation when the Government
which appointed him resigns.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2only

(¢) Both1land?2

. (d) Neither 1 nor 2
18. With reference to the writs issued by the
Courts in India, consider the following
statements : :

1. Mandamus will not lie against a private

* organisation unless it is entrusted with
a public duty.

2. Mandamus will not lie against a
Company even though it may be a
Government Company.

3. Any public minded person can be a
petitioner to move the Court to obtain
the writ of Quo Warranto.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2and 3 only

(c) 1and 3 only

(d 1,2and3

VGYH-U-FGT
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Consider the following statements :
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With reference to Ayushman Bharat Digital
Mission, consider the following statements :
1. Private and public hospitals must adopt it.

2. As it aims to achieve universal health
coverage, every citizen of India should be
part of it ultimately.

3. It has seamless portability across the
country.

Which of the statements given above is/are

correct ?

(a) 1andZ2only
(b) 3only

(¢0 1and3only
(d 1,2and3

With reference to Deputy Speaker of Lok
Sabha, consider the following statements :

1. As per the Rules of Procedure and
Conduct of Business in Lok Sabha, the
election of Deputy Speaker shall be held
on such date as the Speaker may fix.

2. There is a mandatory provision that the
election of a candidate as Deputy
Speaker of Lok Sabha shall be from
either the principal opposition party or
the ruling party.

3. The Deputy Speaker has the same
power as of the Speaker when presiding
over the sitting of the House and no
appeal lies against his rulings.

4. The well established parliamentary
practice regarding the appointment of
Deputy Speaker is that the motion is
moved by the Speaker and duly
seconded by the Prime Minister.

Which of the statements given above are
correct ?

(a) 1and3only
(b) 1,2and3

(¢) 3and4only
(d) 2and 4 only

(11-A)
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21. fFrefofgs woet & Ff wh, 397 ot aga | 25.  Frefefes gui w fmm Hif
HAiFaTgs I 1 Haifus HEwqu AEargwH - — .
y f‘?:;m 1. =T §@ —  Tgae fauem
{:} ok 2. dg — TS TR
A b 3. S —  Tufeern fRuem
(d) i’[g‘ Wﬁ?ﬁwﬁaﬁ?mfﬂﬂﬂ@ﬁﬁﬁfé"
(a) 132
22. FW F “gm mETO wonedt” @1, fored a= & g
dl 1 a-A ¥ FreT R g R S s
%, o ot 2 & 2 % 2
1. &9 i F9 EwEHa @ 8 §
9. U3 F FW I 26, ITEEL THTER H GATE 24 aren weg “ferde” e
(a) Tl YHSAHTHE T2 & 9 H1 &
e LR ) b) I B T H T R A A
(a) had 130 2 o R,
(M0 G (c) wrE # @E M whw Foqm (7
(¢) “had 13R 3 mm)%mmﬁ
@ 1,233 () ¥HT FTR % qege deadi &
23, ufem srhem R Pefafee siel § s9 |27, F=fafes 2o w e Hife .
T, Y@ H 7o § 9qe T R ? 1 sEH
() o fomrifr 9. Twtfieeam
b @ e e Yo
(o) Smisikpe s g
() % e 5. S .
24. zfau wwa H nfewer wd (F=m) Fafafaa Ifw # & feadh diad smemfeae & @
et # & foom v @ faffa g 2 2 g 2
(a) AL (a) Had 1,231 5
(by Hfem (b) <had 1,2, 3 3 4
(¢) U= (¢) ad 3,43M 5
(d) T d 1,2,3,43W5
VGYH-U-FGT (12-A)
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21. Among the following crops, which one is the | 25. Consider the following pairs :
most lmportani.’. anthrol?ogimc source of both Peak Rlarsinzc
methane and nitrous oxide ! 1. Namcha Barwa — Garhwal Himalaya
(a) Cotton 2. Nanda Devi — 'Kumaon Himalaya
(b) - Rioe 3. Nokrek — Sikkim Himalaya
(¢c) Sugarcane Which of the pairs given above is/are correctly
matched ?
(d) Wheat
(a) land2
22. “System of Rice Intensification” of cultivation, (b) 2only
in which alternate wetting and drying of rice () land3
fields is practised, results in : (@' Fonly
1. Reduced seed requirement
9. Reduced methane production 26. The term “Levant” often heard in the news

3. Rodused elottiieliy conbuinptiin roughly corresponds to which of the following

regions 7
Select the correct ing the code gi
e S e R (a) Region along the eastern Mediterranean
below :
shores
() 1and 3 only (b) Region along North African shores
(b) 2 and 3 only stretching from Egypt to Morocco
(¢0 1and3 only (¢) Region along Persian Gulf and Horn of
(d 1,2and3 frieg
(d) The  entire. coastal areas of
23. .Which one of the following lakes of West Mediterranean Sea
Africa has become dry and turned into a
desert ? : 27. Consider the following countries :
(a) Lake Victoria 1. Azerbaijan
(b) Lake Faguibine 2. .+ Byrgysan
: 3. Tajikistan
(¢) Lake Oguta P
B A 4.  Turkmenistan
ta
@) Py 5.  Uzbekistan
24. Gandikota canyon of South India was created Which of the above have borders with
by which one of the following rivers ? Afghanistan ?
(a) Cauvery : (a) 1,2and5 only
(b) Manjira (b) 1,2, 3and4only
(c) . Pennar (¢) 3,4 andb5only

(d) Tungabhadra (d 1,2,3,4andb

VGYH-U-FGT (13-A)
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TAC MV
LAY -‘ck Al |. |

qrrﬂ%sazﬁfi ﬁmﬁf&amﬂmﬁm

Hife

1. AT g gEre @ Ea # |

2. AT # AifEm g g |

3. Rd %I W qeadi ARl § qHEe
Urhfas w9 F gan # |

4. WRA 4, %aa gl e @ deeEe
wafe a1 frafa # v § |

I FuAl § B T E 2

(a) %ae 1,23 3

(b) *Hae 1,23 4

(c) %aet 33N 4

(d 1,2 33N 4

o7l i #, o @ g A R W AR W
w4 g1 8 ?

(a) A 9EH HT IEAT TGS

(b) S HEA T E TE@ATE

(c) T W& 1 TET TEETST

(d) T HEA T GHT TS

frafafiaa gmi w famm Hift

ST FHier
1. B — e
2. W oM — feuew wRw
3. FZETR — fgu
4, wEWRE A — afbeErg
T i & e A i 3
(a) +ad UF W
(b) F9A T IH
(c) had 1 gm
(d) @t = gm

HIETT

31.

(14-A)

EZA

e ———
EKAM IAS ACADEMY
Frefofga w famm $ifs
1 R g
2. hifem
3. fesfiaiat

4. dam

3w # ¥ B, A e wewd

T T F 2

(a) ad 131 2
(b) I 2,33 4
(c) %ad 1,33 4

@ 1,2,33M4

a9 3-0 % Ty #, fFAefafes w99 w fEw
Hifsm

1. a9 30 MEifch & =afs o =9 &
el R e = e € ) :

2, éaa-uﬁmﬁ,mﬁnmamﬁm
e B Thd F |

3. 99 30 f&H fim g ufefm 89 &
IIE VAR g1 @Mfes €9 @
ufenfera fomar sran &

I9YF HYA § HH-A T E 2
(a) Had 13 2

(b) Faa 2 3R 3

() Fae 133

@ 1,233
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28. With reference to India, consider the following | 31. Consider the following :
statements :
1. Monatzite is a source of rare earths. K gya Sata

2.  Monazite contains thorium. 2  CoWIN

3.  Monazite occurs naturally in the entire
Indian coastal sands in India. 7 3. .DigiLocker
4. In India, Government bodies only can

process or export monazite. foi/. «DBRHA
Which of the statements given above are Which of the above are built on top of
correct ? open-source digital platforms ?

(a) 1,2and3only

(a) 1and2only
() 1,2and4 only

(¢) 3and4only ! (b) 2,3 and 4 only
d 1,2,3and4 @ ¥ 16 andiionly
29. In the northern hemisphere, the longeét day (d 1,2 ,3and4

of the year normally occurs in the :
(a)  First half of the month of June ;
(b) Second half of the month of June 82. With reference to Web 3:0, consider the

(¢) First half of the month of July following statements :
(d) Second half of the month of July R A S R DR

- . ? control their own data.
30. Consider the following pairs :

Wetland ! Lake Location ' 2. In Web 30 world, there can be
blockchain based social networks.

1. Hokera Wetland — Punjab

2. Renuka Wetland — Himachal Pradesh 3.  Web 30 is operated by users collectively

3 " Radvan ks Fipura rather than a corporation.

4, Sasthamkotta — Tamil Nadu Which of the statements given above are
Lake : correct ?

How many pairs given above are correctly
matched ?

(a) Only one pair (b) 2and3only
(b)  Only two pairs
(¢) Only three pairs

(a) land2 mﬂy

(¢) 1and3only

(d) Al four pairs (d 1,2and3

VGYH-U-FGT (15=-A)
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33. ‘amém Ha1 % ®9 U (Software as a Service

(Saa8))” % @y #, freferfigs womi w famm
Hifsre :
1. SaaS FIHdl, T FYS HI JTH

aEHaEn Fuffa = s % a7 4
AT S Hehd B |

2. SaaS Wi, v W@ IRl (dremsa
feamsdy) & megm d o el @%
9Ed &1 TR # |

3. ;ﬁz@,ﬁ,zhﬂaaﬂtmﬁa SaaS % &Y
|

39 oAl A wh 2
(a) Had 130 2

(b) “had 23 3

(¢) “had 13K 3

(d 1,23MW3

. Fefafes st § s v, St

# agafda ‘@it wefm sward woned” %

;nmtﬁrﬁawﬁaﬁﬁqmﬁﬂﬁrﬁﬁam

(a) afteg # sfdeafe fmme w1 v,
yeefl 1 TF qqd T HEUE F AHAT B
oH afe § & farwes = % fau
o sman 2

(b) HIE AREIH IE Hem TR F we
ferelt o1 @ W FaTan @

() i3 fimmsa gedt & ufta: st fom »en
H wfua e wman @ o aw gt W
et w15 %S9 e =1 =T

(d) H§ FafeE Rl gy F e
I 9@ ¥ Wed 7 IEE U W TH

quiifér wenfiq =t 2 |

35.

37.

(16-A)

E/A

— G ——=
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“Ffaz (qubit)” e w1 Jeam Befafeg §
FHA wF TE5T H B 2 ?

(a) mﬂmﬁ

(b) FETEH VA

(c) T3 Y1 HER Srenfiferai
(d) ¥R F=R Senfifeat

Frafofga dem defife w fem it
1. Frpeaftey (Fera-afde) 2efifasm

2. e amgfe sfifiaio

3. AR T &9 Jeash

mmmag.mgwmwm

(a) Fae 132
(b) Had 23 3
(c) ae 133
(d) 1,233

frafafas wuHt w fa=m $iftu .

1. awd (FEifeeR) WHT Sae &

fafreahia ofainl w &= gedt £ |

2, Jawa @reved 3R @ gEEs g9t
W o HFdl & |

3. Stawa gfadfaes wfaty g9 gt #
I YA H BH-Y wE E 2

(a) hae 130T 2

(b) I 2 3N 3

(¢) “hael 13N 3

(d 1,233
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“83. With reference to “Software as a Service | 35. Which one of the following is the context in
(Saa8S)”, consider the following statements : which the term “qubit” is mentioned ?
1. SaaS buyers can customise the user (a)  Cloud Services
interface and can change data fields. (b) Quantum Computing
2. SaaS users can access their data (¢)  Visible Light Communication
through their mobile devices. Technologies
d) Wireless C unication Technologies
3.  Outlook, Hotmail and Yahoo! Mail are 2 v ¥
forms of SaaS. 36. Consider the following communication
Which of the statements given above are technologies :
correct ? 1.  Closed-circuit Television
(a) 1and2only & Radio Frequency Identification
(b) 2and 3 only 3.  Wireless Local Area Network
Which of the above are considered
R Short-Range devices/technologies ?
(d 1,2and3 (a) 1and2only
(b) 2and 3 only
Which one of the following statements best (¢) 1and3only
reflects the idea behind the “Fractional @ 1,2and3
Orbital Bombardment System” often talked
about in media ? ' 37. Consider the following statements :
(a) A hypersonic missile is launched into 1. Biofilms can form on medical implants
I R T oroid within human tissues.
approaching the Earth and explode it in 2. Biofilms can form on food and food
space. ' processing surfaces.
3. Biofilms can exhibit antibiotic
(b) A spacecraft lands on another planet :
resistance.
after making several orbital motions.
: Which of the statements given above are
(¢) A missile is put into a stable orbit correct ?
around the Earth and deorbits over a @ © Tena Py
- target on the Earth.
(b) 2and 3only
(d) A spacecraft moves along a comet with
, : (¢) 1and 3 only
the same speed and places a probe on its
surface. (d 1,2and3
VGYH-U-FGT
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38. Wifawi (Yemifeew) & ¥ed # frefofem

39.

VGYH-U-FGT

YA T fa=m Hif . .
1. oifas, Sam s fre i F e g & |

2, w&ﬁﬁﬁaﬁa,mmmﬁmﬁﬁlﬁt
g & Aafie ®9 & Tl smER-Aeh #
qIq 1 |

3. e gu whusH % ureq v ¥ |
9wl # P o ¥ 2

(a) a1 |

b) Fad 2

(¢ 133

@ 233

Hifag-19 favamem # 52 # o 59 =
@ AT % v °, Fraffaa FeE w fAew

Hifsu -
1. 9T S §EH 3 mRNA @RSH $1

Y N Hifasfies 9w wifae-19 S

ffia <

2. Tqdf® V A Tramgs (d9) i@
TAIHH T AN TS T R |

3. wRwH U fiepa deEe  amuifa
CELIh

I HYA T B TE E 0
(a) hae 130 2

(b) hae 2 3R 3

(c) %ad 133

(d 1,23R3

(18-A)
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40. MR F ge1 ¥ @E (@ vE) g W

qgad &, @ get W frefafes § $9-8 9w
9IE & 2

1. GPS 3R fFwamem (M) wrrﬁvm‘f
fawe 2 gt & |

2. fawadi &t & gofiat o gt € |
3. foreh fire wftwrs & woa & |

4, vt & Aftwmw Rl W fia gdm
wifaat afeq & gt § |

5. TR % ey fee W garfivat afta &
qadl # |

6. IR H Had fagey B w1 F |

7. gdE & F FW ¥ Ied 7 TGAA
SgaeT e JeR ot & a6 2 |

H= fou e 1 s = 9 I g

(a) FaA 1,2,4 35

(b) +ad 2,3,5,6 3R 7

(c) %A 1,3,4,63R 7

d 1,2,3,4,5 6307
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Consider the following statements in respect
of probiotics :

1. Probiotics are made of both bacteria and
yeast.

2.  The organisms in probiotics are found in |-

foods we ingest but they do not
naturally occur in our gut.

3.  Probiotics help in the digestion of milk
sugars.

Which of the statements given above is/are
correct ? ;

1 only
2 only

(a)
(b)
©
(d)

land 3
2and 3

In the context of vaccines manufactured to
prevent COVID-19 pandemic, consider the
following statements :

1. The Serum Institute of India produced
COVID-19 wvaccine named Covishield
using mRNA platform.

2. Sputnik V vaccine is manufactured using
vector based platform.

3. COVAXIN is an inactivated pathogen
based vaccine.

Which of the statements given above are
correct ?

(a)
(b)

1 and 2 only
‘2 and 3 only
1 and 3 only

(d 1,2and3

40.

— O _—=
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If a major solar storm (solar flare) reaches the
Earth, which of the following are the possible
effects on the Earth ?

1. GPS and navigation systems could fail.

2., Tsunamis could occur at equatorial
regions.

3. Power grids could be damaged.

4, Intense auroras could occur over much
of the Earth.

5.  Forest fires could take place over much
of the planet.

6. Orbits of the satellites
disturbed.

could be

7.  Shortwave radio communication of the
aircraft flying over polar regions could
be interrupted.

Select the correct answer using the code given
below :

(a) 1,2,4and5 only
(b) 2,8,5,6 and 7 only
(¢0 1,3,4,6and 7 only

(d 1,2,3,4,5,6and 7

(19-A)

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




41.

42.

VGYH-U-FGT

“Serary FHa 3 (T TE dE)” S

faftm 29 % 3o sw=EEw & fau fou o

et <t et e g, = ?

(a) YR WAl F Tewww g fffa
e

(b) “Seay wfadw F IAwiE W W=
why (fam)

© ‘SeAm wEd W Egw Tg @
At & sl afufa

(d) Tg® T Wi FEben AR fava I
g gafta st famafie oo

Frafefea wuai w faem $ife .

1. ‘Soag wE (R omgwe Iu)”
FAEE Al Ted 2 W 98
g a1 W Saary fwan i S s
RalR R e & |

2. A Fol wHHt A SeEy @gE
yrfiedt @ v 3AfFas 8 “EP100” IRH
& |

3. EP100, 391 2&d1 § Jayadq ®I Nd &
T IS A ddl H I HA 7Y
foeqaicahal dgH & fog wfoag smoft
FHafi = g1y @mar 2 |

4. F A Hufai EP100 1 wee |

5. JAUSIE Tl TorH “Iet2 HiufermE W
afearem # |

I FYAl § BH-E TEE 2

(@) 1,2,43W5

(b) et 1,33 4

(¢) “ad 2,3 3R 5

d 1,28 43N5

ﬂl

(20-A)
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“afg auiem it Iomleada 37 gedt % H6e

&, @t ffvea & sndyfimt o 18t < aw *=m

wedt & | Prafafen § @ smiyfiet @ w9

U FM I FYA HI HaoH €9 F wiafatea

FAT R ?

(a) AGMAET % 9@ 9% § wad A9awE,
HaYe 3id:aau iR areee e B # |

(b) Varell ¥ 9% 9N HUW w941 B, W W
o, TevEadl (weefend), wgwed
(diereh), uafi, wigw o wAurd
Ferd-Fed & |

(c) WAHHEAT @R HgeH 3R g1 e
TG T # e et fard #

(d) weflm urgy wilt wiged R Ul F
S = vt & o 8 |

WHO % ag 7vamn femfesi & a=d #,
freferfa oAt w fasm Hifi :

1. PM,, 1 249 W1¥A 15 pg/m® 8 AU
T @GN =iy 3 PM,, ® affs
1] 5 pg/m® 8 2Afus 78 "g =i |

2. fodt af &, il weww % =@ @
yfage dam & 9E 7 # |

3. PM,, %% % a0y F1 357 F T6-5EE
T yae F g 8 |

4. 9 ° Y FEH T B IGH W
gl 2 | :

I woEl § BA-A T E 2
(@) 1,334

(b) “hael 130 4

() 2,33M4

(d) Had 1 3R 2
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41. “Climate Action Tracker” which monitors the | 43. “If rainforests and tropical forests are the
emission reduction pledges of different lungs of the Earth, then surely wetlands
countries is a : function as its kidneys.” Which one of the
(a) Database created by coalition of following functions of wetlands best reflects
research organisations the above statement ?
(b) Wing of “International Panel of Climate (a) The water cycle in ﬁetla.nds involves
Change” surface runoff, subsoil percolation and
(¢) Committee under “United Nations Svaporation.
Framework Convention on Climate (b) Algae form the nutrient base upon
Change” which fish, crustaceans, molluscs, birds,
(d) Agency promoted and financed by reptiles and mammals thrive.
United Nations Environment ; :
Progr o and Wesld Bank (c) Wef.lam'is* play. a ':rltal role in
maintaining sedimentation balance and
42. Consider the following statements : sotl mialk ahtion.
1. *Phe Chinate Group® isen idenibtiennl (d) Aquatic pla.nts absorb heavy metals and
; R : excess nutrients.
non-profit organization that drives
climate action by building large : ;
toerke Al isny. 44. In the context of WHO Air Quality
Guidelines, consider the following
2. The International Energy Agency in
tatements :
partnership with the Climate Group 2
launched a global initiative “EP100”. 1. The 24-hour mean of PM, . should not
3
3. EP100 brings together leading ;’;‘:’e‘j ;5 l*c'f":t Sy d“;m““l i
companies committed to driving £y BROMIG ok EXconll G et
3nnovat'mn . enarg‘:sr_ efficiency ::11‘: 2. In a year, the highest levels of ozone
mcl.'eas.mg cn‘m[?et:ltwenes‘s i pollution occur during the periods of
delivering on emission reduction goals. {olEehent e dthar
4.  Some Indian companies are members of 3. PM,, can .penetrate the lung barrier
eI . and enter the bloodstream.
5.  The International Energy Agency is the 4 . ¢ g ;
Secretariat to the “Under2 Coalition”. - E;‘::f:e fSone A FS B San Sgser
Which of the statements given above are Which of the statements given above are
correct ? correct ?
(a) 1,2,4and5 (a) 1,3and4
(b) 1,3 and 4 only (b) 1and 4 only
(¢) 2,3and5only (¢) 2,3and4
(d 1,2,3,4and5 (d) 1and 2 only
VGYH-U-FGT (21-A)
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45. ®fi-ft gaEn § Sfeafas ‘T F e

46.

47.

#, frafafea et w fmm it .
1. JETHFIH ¢ |

2. ¥ %o fewerht 99 &= I ®
3

gl WG % feurem 6 deredt § o
anforfsas &9 & St H a1t 2 |

I FYH § BH-EE TE A
(a) I 1
(b) e 3
(c) 132
d 233

uiefiufefn Rworee % wedf #, R wan

3 e & sga = IwEm R, Frafafea

FyAt W fomm Aifdre .

1. 36% qgsil ® 39 o HUE F dqel F
HY, 36 TUE B YEfdd @ R,
afefea foam s ke 2 |

2. 398 5 9 H A o o O o
& fore 3ugm fomar s 5= 2

8. THE i dwacdl w1 g (fanfE)

I I I T A G § |

4. wEE o FEgIl w1 wefeo g,

- f7esy fa Ieasa feu, smart & froem
T < wepaT 2 |

I94 HeE § A G F 2

(a) 133

(b) 234

(e 134

(d 233

Frafafaa & & S vaft 727 2 2
(a) Tiesd HEER

(b) 3fET AR

(¢) TgfEe

(d) =ETEe ATEfem

VGYH-U-FGT
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48. fi=fafgs § 98, TEdem-Afidwn ey

49'

50'

N

&2

1. AEHEH

=it (i)

T (fasdh)
forafern o (@)
FAH! ()

H fau g 1 W = wd I gfn
(a) “hael 1,33 4
(b) ad 1,3,53R 6
(c) had 2,4,5 3 6
(d 1,2,4,53Ne6

frafafen foufi & @ fvm o 3 “Sadm

Nt (St eerersn)” € o et & o

(a) #fooe saa fufedl (Fra Gww) 6
Rl

(b) 9gy &R H1 W@ s w9q-fmi
it &1 faewmE _

(© 99 18 F I=vo/fesdn & fu a5t $
T HET

() s/l & § oSl ugel % f
wauI-ifgeRTd (dree fore) I9erey s

“Siprareht wgf” farads fore forema & 2
(@) T 3N -y & § afvifems
1 Hada

(b) AFARFERA: TG o4 w1 YERT W=
ECICIEaRCE |
(c) mﬂﬁiﬁﬁagaﬁmgm

(d) @ &= R HY FAE W gaT HoA w0
HIE
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45. With reference to “Gucchi” sometimes | 48. Which of the following are nitrogen-fixing
mentioned in the news, consider the following plants ?
statements : 1. Alfalfa
1. [Itisafungus. 9 e B
2. It grows in some Himalayan forest areas. 3. Chickpea
3. It is commercially cultivated in the
Himalayan foothills of north-eastern 4.  Clover
India. 5.  Purslane (Kulfa)
Which of the statements given above is/are 6 Stifiaeh
correct ?
(a) 1only Select the correct answer using the code given
(b) 3only il
(¢) 1and 2 (a) 1,3 and4only
(d) 2and3 (b) 1,3,5and 6 only
' (€ 2 4,5and6 only
468. With reference to polyethylene terephthalate,
the use of which is so widespread in our daily (d 1,2,4,5and 6
lives, consider the following statements :
1_ Its fibres can be blended with wool and 49. “Biorock technology" is talked about in which
cotton fibres to reinforce their properties. one of the following situations ?
2. Containers made of it can be used to .
Restorat: fd ral reef:
akiio oy alsaholic ey ; (a) ration of damaged coral reefs
3. Bottles made of it can be recycled into (b) Development of building materials
other products. using plant residues
4. Articles "!‘““-‘_" of it_ . be easily dispoged (¢) Identification of areas for
of by incineration without causing ; :
greenhouse gas emissions. exploration/extraction of shale gas
Which of the statements given above are (d) Providing salt licks for wild animals in
correct ? forests/protected areas
(a) land3 ,
@) Zand4 50. The “Miyawaki method” is well known for
(¢ 1land4 e
(d 2and3 (a) Promotion of commercial farming in
arid and semi-arid areas
47. Which of the fOllﬂ'WiIlg is not a bird ? (b) Development of gardens using
(a) Golden Mahseer genetically modified flora
(b) Indian Nightjar (¢) Creation of mini forests in urban areas
(¢}  Spoonbill (d) Harvesting wind energy on coastal
(d) White Ibis areas and on sea surfaces
VGYH-U-FGT (23-A)

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




EZA

— . _—

IAS ACADEMY : EKAM IAS ACADEMY

Lets Work Together, We Hard, You Smart

—“Fi. YR woeR SRR 1910 4, wida @R % | 64. forw fom & vl ¥ wed d, fisfifea
i “mﬂ (m)n s “siafE (‘gm}” mq'{ﬁﬁﬂ ﬂ:llaltﬁ
fawdi & sfia @i M & | Fefafea § #RA

“ﬂﬂﬁﬁ”ﬁ“qﬁ‘ﬂﬁ? 1: Hﬁmmﬁmﬁmﬂmaﬁaﬂtm
o i & vl fameEt grn aifie gem 2
2.  THHE F=EEA 2. 791 Gigum wfer FE % e 5 oft wia
3. I R T A, 38w sfww g ofe
4, yfem sl vt feufs & s 4 fiea % A
A9 fu 2 1 W F I gh FHe |t T EEAER B
(a) 1,233 S woAl § ST/ Tl 2E 2
(b) 2,33 4 ' (&) Fad 1
(¢) 1,334 !
(b) Had
(d 1,23R4 :
(¢) 13 28Fi
52. WEIHH WA U, veg “wun” e fafdw s d Ja1,982
a1 7
(a) Y&-El
(b) forrp
i 55. WM sfoerm % wof d, frafefad qemdi =
(d) ﬁ . ﬁiﬂtﬁﬁﬂ!:
1. Afagsm
. frafufea : r—
53 Al st @ faEr Hifdo .
1. ¥l $ER 99
2. Gﬁ'ﬁ?fﬁilziﬁ AR CHENGED .
3. W famdl 9w 4. Frafteaeo magom
0% § § BH T O F @ o w9 @
b Lokl I A T E 0
(a) la:n_(2 (a) 1,2@3
b) Fa92 (b) ae 2 3K 4
(¢ 133 : (¢ 1,834
(@ ¥ 3 d) 2,334
VGYH-U-FGT (24-A)
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51. In the Government of India Act 1919, the | 54.
functions of Provincial Government were
divided into “Reserved” and “Transferred”
subjects. Which of the following were treated
as “Reserved” subjects ?
1.  Administration of Justice
2.  Local Self-Government
3. Land Revenue
4.  Police
Select the correct answer using the code given
below :
(@) 1,2and3
(b) 2,3and4
(0 1,3and4
(d 1,2and4
52. In medieval India, the term “Fanam” referred
to:
(a) Clothing
_(b) Coins 55.
(¢) Ornaments
(d) Weapons
53. Consider the following fréedum fighters :
1.  Barindra Kumar Ghosh
2.  Jogesh Chandra Chatterjee
3. Rash Behan Bose
Who of the above was/were actively associated
with the Ghadar Party ?
(a) land2
(b) 2only
(¢ land3
(d) 3only
VGYH-U-FGT (25-A)
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With reference to the proposals of Cripps
Mission, consider the following statements :

1. The Constituent Assembly would have
members nominated by the Provincial
Assemblies as well as the Princely
States.

2.  Any Province, which is not prepared to
accept the new Constitution would have
the right to sign a separate agreement
with Britain regarding its future status.

Which of the statements given above is/are
correct ?

(a) 1lonly
(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

With reference to Indian history, consider the
following texts :

1.  Nettipakarana
2.  Parishishtaparvan
3.  Avadanashataka

4.  Trishashtilakshana Mahapurana

Which of the above are Jaina texts ?

(a) 1,2and3
(b) 2 and 4 only
() 1,3and4
d 2,3 and&
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56. ﬁn?ﬂasfarm%a-‘rzﬁﬁ fr=fafaa 7wt @ | 58.
famm Hifs
ofETa® = 5a &9 § @73 70
1. 3¥eE — W fagm
2. femm — dig fgm
3. g — dvE fgm o
I g | fhaa g wd gifer € 2
(a) 18 oft gm 7
(b) e TF W
(c) %@ 3w
@ @t 7 gm
57. Wi sfew & sl H, frefafes s w
ﬁﬁ'ﬂ'ﬁﬁﬂ:
1. WG W UEeN Wile U Sergen
fgersht % Tvre & gam |
2. N faeht & 9w H, T W0 | g
e Reeft @@ an wdar oft 3w ww
R U o fem |
3. HeufAgres wiel # oW T
O Iad-ufvadt g SRt ®9 @ gR
T o |
I9dw FoAl ° PH-AvE TE B 2
(a) 13R2
(b) Fad 2
() 13MW3
(d) a3
VGYH-U-FGT (26—-A)
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i sfaere & med #, frafafes & @ .
“FeRIRA” FEad ¥ ?
(a) & YA
(b) HeIET
(c) HRH GuAdE
(d) §Hg

At sfaEm % wed #, frefafes suEi w

formm Fiforg

1. o9 93 qEl ad &Et § efy sme
TU W # mW wHEt W o
Seefaimiem wanfya fo |

2. HCHEl I HAgHH A NG Feaqd &
man i P foran o |

3. 3l $ 3 St 3 wgrw # femAw
HE % us wfafafe @ 98 wooft
T % T e T et Tl & o |

It HoAl § B Gh # 2
(a) el 13T 2

(b) heet 2 3R 3

() %aw 137 3

d 1,23MW3

Hifera s7efarer & IgER, Frafafes § #9a

wd & 2

1. =¥ 38 % qRumTEEy H1E SIfth o™
B T o1 |

2. ©ft TE 39 wifes & 65 A 9 9 W
FA TR T g & ot o |

3. AR o g W wfes sw o A

9 1 e &1, 9 38 @ * e w1 @
BH 1 HHA B T o |

ITYTH HIA U BH-H FE 8 2

(a) %ad 13K 2

(b) ae 2 3 3

(c) ad 13 3

(d 1,23MN3
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RUDIREG - : 88. With reference to Indian history, who of the

With refi to Indian history, der th Ty,

o : re ere:Tce e L s S8 following were known as “Kulah-Daran” ?

St Do (a) Arab merchants
Historical person Known as (b) Qalandars

1. Aryadeva — Jaina scholar (c)  Persian calligraphists

(d) Sayyids
2. Dignaga — Buddhist scholar
8. 'Nathamuni =~ - Vaishriava scholar’'| gﬁ‘j‘ ‘.""fe;et:f:m"'znlt‘f_‘““ hisfury, sensiderte
; ; 1. The Dutch established their

How many pairs given above are correctly factories/warehouses on the east coast

matched ? on lands granted to them by Gajapati

rulers.

(a)  None of the pacee 2.  Alfonso de Albuquerque captured Goa

O ity from the Bijapur Sultanate.

e 3. The English East India Company

(¢) Only two pairs Iest.nblished a factory at Madras on a

plot of land leased from a representative

(d) Al three pairs of the Vijayanagara empire.

Which of the statements given above are
57. With reference to Indian history, consider the correct ?
following statements : (a) 1and2only
1. The first Mongol invasion of Indi (. \Sae iy
2 e firs 'ongo mlvamon o la ®  Wanddenty
happened during the reign of Jalal-ud-din
o (d 1,2and3
Khalji.
: : ; ” 60. According to Kautilya’s Arthashastra, which

2. During the reign of Ala-ud-din Khalji, one of the following are correct ?

Mongol assault marched up to Delhi and 1. A person could be a slave as a result of a
besieged the city. judicial punishment.

3. Muhammad-bin-Tughlaq temporarily lost A i;: ?ﬂﬁ;‘r&:’fﬁ LR o SR,
portiona of siorth-weat of his kingdom to 3. If a son born to a female slave was
Mongols. fathered by her master, the son was

entitled to the legal status of the

Which of the statements given above is/are master’s son.

2
ook Which of the statements given above are
(a) land2 correct ?
(a) 1and2only
(b) 2only ;
(b) 2and 3 only
(¢) 1land3 @~ Twl 8oty
(d) 3only (d 1,2and3
VGYH-U-FGT (27-A)

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337




61.

62.

VGYH-U-FGT

IAS ACADEMY
Work Together, We Hard, You Sma

fr=fefaa s w faem fifte .

1. US %ete frad 6t wea gz Aifa $ft werm
&t A T TRl B

2. Ysit yaEA gdue faesht arforfRe seonmmw
(External Commercial Borrowings (ECBs))
aTeAl BHE I ST AT I G Fhel 2 |

3. W€ UG # FAYedH, ECBs ¥ Heag g
Siiftgn =t Temr 2 |

I o B WA o

(a) ohadl 13 2

(b) et 23R 3

(¢) had 13R 3

(d 1,23W3

fr=feafiga vsai w fomm $ifsw .
1.  HY %W

2.+

3. feuree wem

4. fgu

I # 8 e am d W 9m-3dEs 1
FEIH IH A E 2

(a) “had TH T

(b) & A THA

(c) “had oH T

@) a9 T

Frefafiaa Fot w fomm Hifsw .
1. WG ®, gnE wwa-Rufon wifel (ke

i widy) widm fisd % g

fafoafia g & |

2. ICRA 7™ & 9t 91 9wt amar-fgfor
it e ufeerss forfies @t @

3. fowas fem v widw v sman-fafo
T R

I HA § w1 wE E 2

(a) hae 13T 2

(b) had 2 3T 3

(c) ae 133

d 1,233

(28-A)

S

EKAM IAS ACADEMY

Lets Work Together, We Hard, You Smart

64. % @IS =0 (BBB) % w1, Ffufas §

F9.9 HeH 981 & 2
1. RBI %1 79+t BBB &1 9984 & 2 |

2. BBB, Udaf®% &5F% SH F s 5
w94 % fore wegfa s 2

3. BBB, HEIHE &% dAH1 H HEAHAE
3R oft-ada dmes B fasfa w0 §
‘WEE BT 2 |

i faw 52 1w #= wd I g
(a) ae 130K 2

(b) Fad 2 3R 3

(c) Had 133

@ 1,233

. UiEddg |- % wwed H, f=fafeg s w

ﬁﬁﬂiﬁ]ﬁ'ﬂ,:

1. % 9ie # fEd F fou sgem @
fawen 2, sfEddin @i maFa w0
=TS G 1 YA Hd 8 |

2. 3fEdt & fou sgo #1 fawey afs-uars
# gt g I i A HgEeEa
(SeFUH) & T YeH R |

3T oAl § BE-AVE TE A 2
(a) ad 1

(b) e 2

(¢) 13 23t

(d Fd@1,Td2
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61. Consider the following statements : 64.

1. Tight monetary policy of US Federal
Reserve could lead to capital flight.

2.  Capital flight may increase the interest
cost of firms with existing External

. Commercial Borrowings (ECBs).

3.  Devaluation of domestic currency
decreases the currency risk associated
with ECBs.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2and 3 only

{(¢) 1and3only

(dd 1,2and3

62. Consider the following States :

1. Andhra Pradesh

2.  Kerala

3. Himachal Pradesh

4.  Tripura

How many of the above are generally known

as tea-producing States ? 65

(a) Only one State \

(b) Only two States

(¢)  Only three States

(d) All four States

63. Consider the following statements :

1. In India, credit rating agencies are
regulated by Reserve Bank of India.

2.  The rating agency popularly known as
ICRA is a public limited company.

3.  Brickwork Ratings is- an Indian credit
rating agency.

Which of the statements given above are

correct ?

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

VGYH-U-FGT (29-A)
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With reference to the ‘Banks Board Bureau
(BBBY', which of the following statements are

correct ?

1. The Governor of RBI is the Chairman of
BEB.

2. BBB recommends for the selection of
heads for Public Sector Banks.

3. BBB helps the Public Sector Banks in
developing strategies and capital raising
plans.

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2and 3only
(¢) 1and3only
(d 1,2and3

With reference to Convertible Bonds, consider
the following statements :

1.  As there is an option to exchange the
bond for equity, Convertible Bonds pay
a lower rate of interest.

2.  The option to convert to equity affords
the bondholder a degree of indexation to
rising consumer prices.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 2 only

(c) Bothland?2
(d) Neither 1 nor 2
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fr=fafaa w famr $ifsw -

1. e sEEEw R % (dRem
TR FARHE 9F)

2. wEuE Weifieh e s (s
TS Teere o)

3. Vu¥ TEAW T (YU wreiiEE
HIATEATH)

WA 39Yh W | fehae/ e wee & 2

(a) ae 13K 2

(b) e 3

(c) aw 23R 3

(d 1,23NR3

frafefga s w femm Hifs

1. =« % g9 i fomem fava o e oSt |
Tt g8 sreforaanet # ¥ o @ R |

2. fogam = g wgocfE  ToHifas
JoumTett % gRT BT # |

3. fogaam w1 snffe form favaeamdt gfd
TGl % WY FHH THE AR i
W e SH B eI R |

4. @9 gy ¥ fygaam & = gm0 awmEt
iR feor fafama =t 3 afvas fwiaed &
HATRia fFaT 2

5. fiewsma &3 %1 gaffos IEs odar
Yo femaam H 2 |

Srie worl § e
(a) 23N 4
(b) 335
(¢) 1,33 4
(d 132

70.

(30-A)
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Wi #, P § 99 gmehf = fafa
& ia fetar s wEs ¥ fore seter & 2

(a) I9HIH A faum

(b) =4F WEUA AEM

(c) Tocita feuman o o fteg
@ e fod =

F-wREe e (Non-wbh Tokens

(NFTs)) % gy #, f=fafes s w fmm

$ifvw .

1. 3 sifew ofeefal & b e
(fforee forsieem) it got s ma & |

9. F I Tremfes orka & st fedt
seAtReT § femm € |

3. 31, gogal W, =NR A1 fafwa foman s

| FehaT & 31 sEfeTT I AR Se-a
¥ HISAH % 9 § T fRA1 91 Ghal
21

Iwh ST A T E

(a) Hael 13T 2

(b) haw 2 3 3

(¢) hae 13M 3

@ 1,233

frfefaa gmi w faem i .
TATIT T

1. HRYH — e

9. MW — HEWRW

3. sRuEm — YW

4. AR — g

378 5 & e gm wd gt 78 ¥ 2

(a) had TH JH

(b) ad g FH

(¢) haet o W

(d) @t = g
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66. Consider the following : 68. In India, which one of the following is
responsible for maintaining price stability by
1.  Asian Infrastructure Investment Bank controlling inflation ?
e (a) Department of Consumer Affairs
2.  Missile Technology Control Regime ¥
(b) Expenditure Management Commission
3.  Shanghai Cooperation Organisation (¢c) Financial Stability and Development
Council
India is a member of which of the above ?
(d) Reserve Bank of India
(a) 1and2only
69. With reference to Non-Fungible Tokens
(b) 3 only (NFTs), consider the following statements :
1. They enable the digital representation
() 2and 3 only ufphyaical assets.
(d 1,2and3 2. They are unique eryptographic tokens
that exist on a blockchain.
67. Consider the following statements : 3. They can be traded or exchanged at
equivalency and therefore can be used
1. Vietnam has been one of the fastest as a medium of commercial
growing economies in the world in the transactions,
recent years. Which of the statements given above are
; correct ?
2.  Vietnam is led by a multi-party political (@ 1and2only
system.
(b) 2 and 3 only
3.  Vietnam’s economic growth is linked to (c) 1and 3 only
its integration with global supply chains (d 1,2and3
and focus on exports.
70. Consider the following pairs :
4. For a long time Vietnam's low labour _
costs and stable exchange rates have Reservoirs Stases
attracted global manufacturers. 1. Ghataprabha — Telangana
5. Vietnam has the most productive 2. Gandhi Sagar — Madhya Pradesh
e-service sector in the Indo-Pacific 3. Indira Sagar — Andhra Pradesh
region.
4. Maithon —  Chhattisgarh
Which of the statements given above are
correct ? How many pairs given above are not correctly
matched ?
(a) 2and4 & o 3
3 a nly one pair
(b) 3and5 ()¢ ' @nlytwo pal
() 1,3and4 ()  Only three pairs
(d) 1land2 (d) All four pairs
VGYH-U-FGT (31-A)
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g #, Fefafas & 9 s, 39 Seefal d
il s g &, afeitfies e, s,
it i Fmed F fawg § guel # gwhm
HAT 8 ?

(a) g HifeTh HETEE

(b) FEM Hads 3 Aiafts =mr fawm

(¢ =9 =
(d) U qepiehl SwIfte o1 SoTTett

A U, HIFel f¥93% T8 (Coal Controller’s

Organization (CCO)) i &1 YfirT & ?

1. CCO ¥Nd 9K H el |ifeqsdhl
T HE # |

2. W8 dg dEwfage @8 % fGwm &
Tfer &1 AifleE wE # |

3. % FaEEe &6 F atmen & gaw §

TR h1 A== & vfa et smafa &
JHA AT B |

4. T& gRfrea wm ? & =en @+
Fufat fafea amg & sifom Iusimet =t
e faao %t |

H1= fou e &1 wam = wédl s g
(@) 1,233 .

(b) ehael 3 3R 4

(c) hael 137 2

@ 1,234

afe foreft fafiree 8m + wwa & wfauam 6

fadl s % anfia emn s, o Feffa

FHEI § BT TF, THF IROMH FI TG 9

¥ gfafefea s g 2

(a) TEH S @ S e
St I Fafd H T/ U e |

(b) 399 3IM &9 H & g @ fen
1 g & |

(c) TU™ 9% &7 §Y USHAT | §ge T |

d fm o % gg @ &7 3, 39 few
SHife H1 Ty Giftm feman smam |
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74, TFafafes $o= w e Hifsw

75.

76.

(32-A)

1. YRG ool TeeYd YT Eeodl &
gaffa & aen @ewn @ 3t yra awR
a1 fava wren e g sEe Ay
BT R |

2. U TR $1 TEIH WA TR § IErE
wE well 1 W o vfider frem R, sk
7 wEll ua i TR B FHEE FH
FaYdS g ITTY HUAT 8 |

I wEl § H-aA Tl ¥ 2

(a) e 1

(b) Ha 2

(¢) 13 2t

@ JI@d1L,AIE2

frafafea & #Rw s, w@iaw (GeEm)

sifufam, 1986 % 3refi nfsa fepr T 2 2

(a) S A A

(b) HH IE &

(©) 5 e wiferes

(@ U v fawm afimo

“wge T S wiufa (s v HEfncw

Hidh)” & aed #, Fafafas s w famw

$ifsm

1. g8 43w U (UN) guan gReg gro wnfia

afifa 2 3t 3% wlagw & adfig wm
Tt B |

2. UNYE ¥ ¥ wfd a¥ A, 9@ 3 fadew

¥ 3uhl 33 Bt R |

3. 9% HEWWl Wi FHIEA &g e gd &

H gd @i UN 9l & oadi &1 3T
HAl 8 |

ST HYET § hH-aE qE A 2

(a) °had 3

b) 133

(¢) 233

@ 132
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L In India,. which i of 1.;he fr?tlowing compiles 74. Consider the following statements :
information on industrial disputes, closures, 1 The India Sanitation Coskbion i
retrenchments and lay-offs in factories r 2 B e o e e
employing workers ? platform to promote sustainable

p sanitation and is funded by the

(a) Central Statistics Office Government of India and the World

(b)  Department for Promotion of Industry Heailth O'TEH.DJzatl?n. e
and Internal Trade 2. The National Institute of Urban Affairs

is an apex body of the Ministry of

(¢c)  Labour Bureau Housing and Urban Affairs in

(d) National Technical Manpower Government of India and provides
Information System innovative solutions to address the

challenges of Urban India.

72. In India, what is the role of the Coal Which of the statements given above is/are
Controller’s Organization (CCO) ? correct ?

1. CCO is the major source of Coal (:) ;0211}'

Statistics in Government of India. (b) e
(¢) Both1and2

2. It monitors progress of development of (d) Neither 1 nor 2
Captive Coal/Lignite blocks.

3. It hears any objection to the|75. Which one of the following has been
Government'’s notification relating to constituted under the  Environment
acquisition of coal-bearing areas, (Protection) Act, 1986 ?

4. It ensures that coal mining companies ()  Central Water Commission
deliver the coal to end users in the (b) Central Ground Water Board
prescribed time. () Central Ground Water Authority

Select the correct answer using the code given (d) National Water Development Agency

below :

(@ 1,2and3 76. With reference to the “United Nations

Credentials Committee”, consider the

(b) 3 and 4 only following statements :

(¢) 1and2only 1. It is a committee set up by the UN

(d) 1,2and4 Security Council and works under its

supervision.

73. If a particular area is brought under the Fifth 2. It traditionally meets in March, June
Schedule of the Constitution of India, which and September every year.

¢ :
one of the folluwm_g statements best reflects T T Tl S
the consequence of it ? ko
members before submitting a report to
(a) This would prevent the transfer of land the General Assembly for approval.
; | A . .
of txibet peopls tomionGbal peaple Which of the statements given above is/are

(b)  This would create a local self-governing correct ?
body in that area. () ‘Bl

(¢) This would convert that area into a o
Union Territory. &

(d) The State having such areas would be o). S
declared a Special Category State, (d) land2

VGYH-U-FGT (33-A)
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7. Peafafen § @ R w FE gdE B |79, wRa # “Gm a8 & weaw W, teiad Ha

(Polar Code)’ &1 HaTaH avi &tdl & ? 1 famm $ifdw .
(a) g Temfr § gReErem @ FEE & 1. = ¢ wifafues e R |
for 7% gan =1 siadisa Fis R | 2. B PN ud RPEM Heamr HATEE § Ho
frams e 2
(b) TE I8 Y9 . U™ F [ w1 g
I e 3. 9™ 91 & WOW $Eed ange ¥ oE
2l
2
4. w9 F gag o wien # faeht wmfea
(¢) T& Iult g3 3k cfaft gg & gEum ¥
Gl M B 39 oAl § wHA T E 2
T WA H G R |
: (@) 13M3
fd)%aﬁ@;ﬁmﬁ%miﬂw by G
T B .
i > (c) 33M 4

(d 134
78, HAw W WA % wed #, Prfufen wed |

R fomm Hifsw .
g0, Fefafigs § #Wa w, “Saafim” seg =1
1. UN #e@vl, Faee U=t #1 s foufy v GBI

e H THdl & |
' . (a) Them &9 ¥ 98 w9 = 0 6 St
9. FAFEHN HEA UN Hg@wl # I ¥ Imrg Tifeafe.amge ($H1dheeh)
feufa o™ &1 9T T £ | 3 wafawfis €9 & I9gw §
3. UN e # R B UN T | ) fedt dwm % e Rdde R @
firem &0 T wHA £ | giftfeafie/matarfia armEl w1 mite T8
S o § AR @ E - o
@ a1z (c) ufies =T fooftm @ w3
. g arifeafas gefomEi 1 3uE
(b) had 2 AN 3 —
() 13K 3 @ Tt ot sfEisAyERFEs § gt
d 1,233 wnTal & fore sifad vy w5
VGYH-U-FGT (34-A)
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77. Which one of the following statements best | 79.
describes the ‘Polar Code’ ?

(a) It is the international code of safety for
ships operating in polar waters.

(b) It is the agreement of the countries
around the North Pole regarding the
demarcation of their territories in the
polar region.

(e) It is a set of norms to be followed by the
countries whose scientists undertake
research studies in the North Pole and
South Pole.

(d) It is a trade and security agreement of
the member countries of the Arctic
Couneil.

78.  With reference to the United Nations General
Assembly, consider the following statements :

1. The UN General Assembly can grant
observer status to the non-member
States.

2.  Inter-governmental organisations can
seek observer status in the UN General
Assembly.

3. Permanent Observers in the UN
General Assembly can maintain
missions at the UN headquarters.

Which of the statements given above are
correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and 3only

(d 1,2and3
VGYH-U-FGT (35-A)
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With reference to the “Tea Board” in India,
consider the following statements :

1.  The Tea Board is a statutory body.

2. It is a regulatory body attached to the
Ministry of Agriculture and Farmers
Welfare.

3. The Tea Board's Head Office is situated
in Bengaluru.

4.  The Board has overseas offices at Dubai
and Moscow.

Which of the statements given above are
correct ?

(a) land3
(b) 2and4
() 8and4
(d 1land4

Which one of the following best describes the
term “greenwashing” ?

(a) Conveying a false impression that a
company’s products are eco-friendly and
environmentally sound

(b) Non-inclusion of ecological/
environmental costs in the Annual
Financial Statements of a country

(¢) Ignoring the disastrous ecological
consequences while undertaking
infrastructure development

(d) Making mandatory provisions for
environmental costs in a government
project/programme’

Ashok Nagar X Roads, Hyderabad-2 | www.ekamiasacademy.com | 81210 17337




B1.

82.

VGYH-U-FGT

Ashok Nagar X Roads, Hyderabad-20 | www.ekamiasacademy.com | 81210 17337

\DEMY

feferfiga seHt w faem ifm

1. 3= 99 gegq: |@n fafeor wt soafda &=
YYs3 HI IS F & |

2. WIS H Icdfd B 9Tl e fafeRt
w1 e A9 § 3= IEwew g 2, ok
THHE A9 JuTE el R |

30 woEl § A T 2 2

(a) Had 1

(b) e 2

(©) 13022

(d Td1,7€2

1. Iuftufesdt S # fidAS T
yromeff st R |

2. W gEM TR Ig @ vomEE U g 3O
wm didEet 4 wd # |

3. wmwifern % T8 g ¥ veA fHU g 5O
AN H % gere o e § wa # |

393t weAl # wmH-EVA wd AR 2

(a) 132 :

(b) Had 2

(c) 233

(d) Had 3

Frrferfiga 2ot w famm $ifse .
st

CEICEIC]

Q)]

T

. FeefREE

I § FHE TH T F W F 9ed
L&

(a) 1,23 4

() 13M3

() 235

(d 8,43M5

I
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84, Frferfga woi w famm Hifs

1. 7o § WRe 1 femeray d@it s # |

0. @ # i W i sl T
LT R | '

3. ien # wna 1 fewmemn g W@
yeE-aed g g 2 |

I oAl § SE-E/A T 2 2
(a) 13K 2
(b) a2
(¢ 133
(d) a3

. TR FEE TG T AR (FAEeE AN

F4vH) & "y #, Frafefiga sl w fe=m

Hifsw )

1. ot afa T=a #1, 39 uefies qgg 6
dter @I, IURTE ¥ Wiftd, 12 w9
i @ oFfus dm o s &

HIET GEATId A H AHR B |

2. |l TSl %, 9% 9 76 § A qag §
% &, el H IRl wg ¥ B W™
o Tep-2re I 1 AfYER BT 2 |

3. 3 i & @ fomn 3| smuRE
& 200 g9 e & sifvs T8 g, @ |
wrefires wyg it drerd ardt et ? |

I oAl § FE-H T E 2
(a) ae 130 2

(b) Haw 2 3R 3

(c) had 131 3

(d 1,23R3
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81. Consider the following statements : | 84. Consider the following statements :
1. High clouds primarily reflect solar 1. . Gujarat has the largest solar park in
radiation and cool the surface of the Indi
ndia.
Earth.
2.  Low clouds have a high absorption of 2. Kerala has a fully solar powered
infrared radiation emanating from the International Airport.
Earth’s surface and thus cause warming 3. Goa has the largest floating solar
effect. photovoltaic project in India.
Which of the statements given above is/are Which of the statements given above is/are
correct ? ?
N correct ?
(b) 2 only (a) land?2
(c) Bothland?2 (b) 2only
(d) Neither 1 nor 2 (¢0 1and$3
82. Consider the following statements : (d 3only
1.  Bidibidi is a large refugee settlement in :
north-western Kenya.
2. Some people who fled from South Sudan
civil war live in Bidibidi. 85. With reference to the United Nations
3.  Some people who fled from civil war in Convention on the Law of Sea, consider the
Somalia live in Dadaab refugee complex following statements :
in Kenya.
: 1. A coastal state has the right to establish
Which of the statements given above is/are the breadth of its territorial sea up to a
correct ? limit not exceeding 12 nautical miles,
(a) 1land?2 measured from baseline determined in
(b) 2 only accordance with the convention.
(€ 2and3 2. Ships of all states, whether coastal or
(d)  3only land-locked, enjoy the right of innocent
83. Consider the following countries : passage through the territorial sea.
1. Armenia 3.  The Exclusive Economic Zone shall not
2. Azerbaijan extend beyond 200 nautical miles from
3. Croatia the baseline from which the breadth of
4. Romania the territorial sea is measured.
5.  Uzbekistan Which of the statements given above are
Which of the above are members of the correct ?
Organization of Turkic States ? (a) 1and2only
(a) 1,2and4
& ikt (b) 2 and 3 only
(c) 2and5 (c) land 3 Dlllj’
(d 3 4and5 (dd 1,2and3
VGYH-U-FGT (37-A)
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fefafes s & FRw w, FHsdh
mﬁmmwmaﬁm
wq 7 yfafafem w2 2

(a) MW 4R W 7@ 9 5rar B fF 3 aféft
# wvR ¥ gy e 2w g fffa
Fomgu E |

(b) aﬁqﬁnw%iﬁal{ﬁaﬁqmﬁsﬂ
2t % fowa # T e g war 2

(c) & ATEAT W HOHA & HHATS F TG
# weg w0 ¥ fou v st smfeh 8=
Frge wfua foman w2 |

(@ T AU FREE ¥ IE IS
ufy ifia i 8, aufy o gforge
of¥rTé 3 I W g H ¢

Freaferfiga guit w famm $ifs
a7 g7 & & garani 4 g7 #7
HETEquf HRT

— o g TR &= 99
TG

— #7 g Efaue 3 5N
1 Feem

— 1R 3 o gag 6
FTfefes wE
orffEn — g g geg o e

39 Wi @ fohas o gafem 8 2

(a) had TH gH

(b) hew 31 IH

(c) “had A W

(d) §ft =9/ g™

1. =
2. fiFft

3. o= H
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88, frferfan i w frem Hife ;

89,

(38-A)

37T FHERT 7
et &7
T e
HER e
HrE AT —
EAnISIEE!
scrg?ﬁgﬁﬁﬁsaﬁvﬂ’rgﬁ%ﬂﬁ?
(a) “had TH JH

(b) ae 3 JH

(c) “had o W

(@) @t I’ gm

g @ % R § 9w At e
#, Prefifes #eEt w fer Fifsw
1. S, THATE SR 6 gt § |

0. wa Feeht serfe W wm wifte R
S 2, 9 T8 e = i &m d @
I AR, WHE GUE H TR R |

3. Tt wfem s & amE sieq & foo
WA 9 T H IR 39 AT H TS
71 ¥R fou 9 &1 93T AW R |

Iedeh HYHl § BH-HVE FE 2/E 2
(a) 132
(b) Fad 2
(¢) 133
(d) ad 3

fafafiga 4 @ f5 & Sfia 6 Fo wofaat
Hah! % FIHI P ®9 F T At E 2

(a) et

(b) i

(c) FHH3

(d) wHE

ﬁ%%% @

R
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Which one of the following statements best

reflects the issue with Senkaku Islands,

sometimes mentioned in the news ?

(a) It is generally believed that they are
artificial islands made by a country
around South China Sea.

(b) China and Japan engage in maritime
disputes over these islands in East
China Sea.

(¢) A permanent American military base
has been set up there to help Taiwan to
increase its defence capabilities.

(d) Though International Court of Justice
declared them as no man’s land, some
South-East Asian countries claim them.

87. Consider the following pairs :
Country Important reason for being
in the news recently

1. Chad — Setting up of permanent

military base by China

2. Guinea — Suspension of Constitution

and Government by military

3. Lebanon — Severe and prolonged

economic depression

4. Tunisia — Suspension of Parliament

by President

How many pairs given above are correctly

matched ?

(a) Only one pair

(b)  Only two pairs

(c)  Only three pairs

(d) All four pairs

VGYH-U-FGT
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Consider the following pairs :

Region often mentioned Country
in the news
1. Anatolia —  Turkey
2. Amhara —  Ethiopia
3. Cabo Delgado —  Spain
4. Catalonia —  Italy

How many pairs given above are correctly
matched ?
(a) Only one pair

(b)  Only two pairs
(¢)  Only three pairs
(d) Al four pairs

With reference to Indian laws about wildlife

protection, consider the following statements :

1. Wild animals are the sole property of
the government.

2. When a wild animal is declared
protected, such animal is entitled for
equal protection whether it is found in
protected areas or outside.

3.  Apprehension of a protected wild animal
becoming a danger to human life is
sufficient ground for its capture or

Which of the statements given above is/are

correct ?

(a) land2
(b) 2only
(c) land3
(d) 3only

Certain species of which one of the following
organisms are well known as cultivators of

fungi ?

(a) Ant

(b)  Cockroach
() Crab

(d) Spider

(39-A)
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o1. Frrferfiam gl w famm Hifiy
T % g a7 @ fra
FramE % e g i E
L. shef — aifem
2. TE R o
3, e s
4. el — e
I gwi # | fraa vl gafo & 2
(a) % TH JH
(b) e A W
(c) had fF gm
(d) 'H‘ﬂa]ﬂ'g:q
o2. Freafesfien it w form Hifre
ol ECE
1. A% =3 a%a
2. SARH R
4. W _ e
e gt e e e & 2
(a) had TH IW
(b) ad 3 J|
(c) aﬁﬂ?ﬁ?gﬂ]
(d) =t =wi gw
93. Wl e W F W A & A g,
ﬁqﬁﬁﬂﬂﬂiﬁﬁaﬁqmw’w%?
(@) W Hwmed # dfew wh w7owd
T 7 7 |
(b) & & W afiEw ST R &)
@ o1 |
() @™ Higasdi § @ W F i T
TR
(d) T Hiiged § G AThel hl TG FATAT
TR |
VGYH-U-FGT
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s T d ‘OrEis” w1 Pemgde
urtafa grr S § srarg R w2

(a) HhsH

(b) T
(c) V&l

(d) "

T @ § B § wid % wue wf g
TS 6 A qg1 ¥ fave 6 gal gew S
gfd 1 3gared o man | Feafafas S
| HR-A1 U, Tuw it et w5 od fefm
HE R ?

(a) T TIfed o1 GaTaw |eE 9fte o |

(b) A5 WINEd, orew-ufaftsd @ ol
THToER B |

(c) dhEma Ifhal watEm Mg % Wi
eIy 9 |

(d) ©AF % HTEAH © Hie I A HehdT 97 |

T # H, 7aE w=f 3 SEe § @y i %
frpe v wfhe 7@a 1 3qured fmn | EmT
ifer & an # frafafas oEt § $R8 o
?

it i AR A b A
IA-FEA I Fey wfex = i R
Hmry Gfer it gmafrsr (3w % AfR
#1 FATET) U TH. TIHWH gRT H
T ot |

9 fau Fe =1 @ F= A 3w g

(a) A 13 2

(b) hae 23 3

(c) e 13 3

(d 1,233
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91. Consider the following pairs : 94. “Yogavasistha” was translated into Persian by
Site of Ashoka’s Location i the Nizamuddin Panipati during the reign of :
magjor rock edicts State of (a) Akbar
1. Dhauli — Odisha
(b) Humayun
2. E i —_ Pradesh
rragudi Andhra esh @) Shabiahaa
3. Jaugada — Madhya Pradesh G A b
4. Kalsi — Karnataka
95. The world’s second tallest statue in sitting
How many pairs given above are correctly pose of Ramanuja was inaugurated by the
matched ? : Prime Minister of India at Hyderabad
(a) Only one pair recently. Which one of the following
(b) Only two pairs - statements correctly represents the teachings
(¢)  Only three pairs of Ramanuja ?
(d) All four pairs (a) The best means of salvation was
devotion.
92.  Consider the following pairs : (b) Vedas are eternal, self-existent and
King _ Dynasty wholly authoritative.
1% Nannakn — Chandela (¢) Logical arguments were essential
means for the highest bliss.
2. Jayashakti — Paramara
(d) Salvation was to be obtained through
3. Nagabhatall — Gurjara-Pratihara meditation.
4. Bhoja — Rashtrakuta
96. The Prime Minister recently inaugurated the
- How TIRDY ol e above are correctly new Circuit House near Somnath Temple at
matched ? Veraval. Which of the following statements
(a)  Only one pair are correct regarding Somnath Temple ?
() Only two . 1. Somnath Temple is one of the Jyotirlinga
()  Only three pairs shrines.

(d) All four pairs 2. A description of Somnath Temple was

given by Al-Biruni.

3. Pran Pratishtha of Somnath Temple
(installation of the present day temple)

93. Which one of the following statements about
Sangam literature in ancient South India is

correct ? was done by President S. Radhakrishnan.
(a) Sangam poems are devoid of any Select th b the sole o
aforoticats Sbistal aultig. S e correct answer using the code given
(b) The social classification of Varna was
known to Sangam poets. (a) 1land2only
(¢c) Sangam poems have no reference to (b) 2and 3 only
warrior ethic.
(¢ 1land3
(d) Sangam literature refers to magical oy
forces as irrational. (d 1,2and3
VGYH-U-FGT (41-A)
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Frefefgs st w foem $ifsw .
DNA STGHIfen fraert Iqame & e & ?

1. Todft ugm @ wmft it g 1 sTHeH
wH & fog

2. wAM e Tl vt ¥ i R

100.

(42-A)

s % fore

3. WHwHd WrEvEE § e Wl A gy
Tt F gEEEA % fag

I HYA H PH-FVA T R 2
Fad 1
Fad 3
13K 2
2 3 3

(a)
(b)
(e)

(d)

Frafefaa w fomm S
1. hEd HAEETEE

2. ATEEIH JTEETES
3. A

4, ToHl SEIFERES

T § 3w # & frehyfeadt siftremar
B ¥ o7t aut Bt B 2

1,23 3
Fad 2 3 4
Fad 4
1,33 4

(a)

(b)

(c)

(d)
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97. Which one of the following statements best

. describes the role of B cells and T cells in the

human body ?

(a) They protect the body from
environmental allergens.

(b) They alleviate the bodys pain and

inflammation.

(e) They act as immunosuppressants in the
body.
(d) They protect the body from the diseases

caused by pathogens.

98. Consider the following statements :

1.  Other than those made by humans,
nanoparticles do not exist in nature.

2.  Nanoparticles of some metallic oxides
are used in the manufacture of some
cosmetics.

3.  Nanoparticles of some commercial
products which enter the environment
are unsafe for humans.

Which of the statements given above is/are

correct ?

(a) ‘lonly

(b) 3only

(c) land2

(d) 2and3

VGYH-U-FGT
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Consider the following statements :
DNA Barcoding can be a tool to :

1.  assess the age of a plant or animal.

2.  distinguish among species that look
alike.
3.  identify undesirable animal or plant

materials in processed foods.

Which of the statements given above is/are
correct ?

(a) 1only

(b) 3only

(¢c) land2

(d) 2and3

Consider the following :

1.  Carbon monoxide
2.  Nitrogen oxide

3. Ozone

4.  Sulphur dioxide

Excess of which of the above in the
environment is/are cause(s) of acid rain ?

(a) 1,2and3
(b) 2 and 4 only
(¢) 4only

(d 1,3and4
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